TR 2023 FER]H 2 Nb K25
#H = K

M #EEIES

5 E:

LK R | AR NASAAE, KAAL 6 R, AKX, 24 4N, #HaH 150
o ARE KA 120 494,

2L . RHIET HAAE ERMAA LSO EE L,

3AAET, deikAA | A AELA éliff%iiiﬁszv*/g\%%c%ﬁﬂﬁ
M EERLEFENNERBZFERT, ZELNILRAT IR G LA S E AERIRA
A, B RAA L RAR R EAA R IRH By EE L,

4 RRAAER T F B, B AT R 69K, 4 R AR AT

& E

—. IEEEE (BNEL4 4, 3R 40 4. FEREINEIZS R IPUANIE D, R TS H R
1. #£-2, -1, 0, @ XPUANEF, SRS

A. 2 B. -1 C. 0 D. n
2. FHITHELIEMI
A X +x=x B. x°+x’=x? C. (xX)'=x’ D. x'ex'=x

3. BT RO R 2023 IR T A T SE B X AR S E 380 180 000 000 JT, ] LL 1
K- 4.5%. % 380 180 000 000 FHRIFICHE LR R~ A
A. 038018x10”  B. 3.8018x10" C. 3.8018x10"  D. 38.018x10"
4. WE PR U A i — A AR — AN KT R4, B

5T Y OO0

/éﬂﬁﬁ A.
(% 4 8RB
x+1>0 . .
fﬁéﬁ{ 1< On@ﬁﬁﬁté&iﬂaiﬂ%mﬁﬁﬁm%
_ﬁ—_. . . /7
-1 0 1 -1 0 1 -1 0 1 -1 0 1
A. B. C. D.



6. . 4. W T4 SEEs) BTSN, A 10 RS RS Y (AR B1)
N7 82 (Bfr: 32 i FERPIR:

H 4 [ I

x 9 8 9 9

2 1.2 0.4 1.8 0.4

MR P, TR RS LAAFRDE e s i B INtiaE, Mg+
A. H B. & C. N D. |

7. Wi, R E = kox + b (k> 0) (IS5 S L R L y, =£(k2 >0) MEZANZT 4, BPIsL
X

RA IBAERR A 1, B (RRAARRO =2, 2y, <y, I, x (FHUETE EE

A, x<-=2x>1 B. x<—2m0<x<l
C. 2<x<0mkx>1 D. 2<x<0m0<x<l
YA A
N ey
2
! ol 1 X
B
E D
(% 784H) (% 1048)

8. WMAEAWT AR A KES ey — BB HIMSRAE . FAH 1 60 25T,
THRIPK b 10%0) R AR e, HEAX 10 - R S 2 e FRP R 6. 0 0025 el f T A B o
AR 2 £5/0 3 B, ) A% Bl AURORR £ () THIRR 8 22 /D A 2 SR Tl (R T RO x A B, FloRR £
(KITHIRN y A, AR5 FEZH
A {x+y=60 B. {x+y=54 . {x+y=60 D. {x+y=54

y=2x-3 x=2y-3 x=2y-3 y=2x-3

9. B REE y=ax’ —Ba+Dx+3(a=0), FHVILIEMKIZE
A. (1, 2) EZRENES
B. Ha=1H-1<x<3 K, 0<y<8
C. ZHRHMKE %Y x #h— e fHA s
D. % a>0 I, i‘z@%&@%ﬁ@xﬁkiﬂﬁiﬁﬁﬁpgE’JE@HU
10. i, Ll =¥ ABC (i Kill BC Nl AMERETE BCDE, %45 AE, AD, W /AAED,
AABE, NAACD WA MR S, Si, oy HERH S-S -8, MfE, A&

A. AABE [ B. AACD A C. AABCIAIHIAY  D. %5 BCDE [



gl
—.ETE NS S 5, 33000
1. R -y =__ A

12. 24§75 . i 5 AR x WHENL__A .

13. — MAEWIAR T HAA 3 ANaRER. 3 NREA 6 NLER, ENIBREEAARAMR . AAEH
FERH — DO IR _ A .
14, tuls,  [ESETEAH I BT 4204 30cm, BRZEKY 50cm, UK IR MITHAR ) __ A cm?.

(R Ay
4 E 4
Y D
E c o "X
B
B D C
(% 1448) (% 1548) (% 164H8)

15. WK, 7 RtAABC H', LC=90°, E J AB il b—45, DL AE A HEANFIE 0 5 BC YT
5D, %% AD, BE=3, BD=35. P& ABII FIEhS, MAADP N E=44TEH, AP
KN A .

16. W, 4, BARERE y =2 (a> 0) BIGHHL b (448 %I, &4 ABZ x T
X

s C. AD, Eﬁﬁ_fu%zy=é(b<0, x<0)B% L, AE/x %, BD//y %, %45 DE, BE.
X

¥ AC=2BC, NAABE WA A 9, VWil ABDE (FTH N 14, Wa—-bWHE_A , alf
Eh_A .
=. BEBR CKKUA 8 /M, 3807

17. GRS 4% 58 (1D (1+¥8)° +[2[-V9. () (a+3)a-3)+a(l-a).

18. (A8 43D 71 4x4 MM AR, 15T T A SR A% S =M K (T RUA7ER S FD.
(D 2B 1 st AN LU PO TR S =AY PAB, Tl =ML AP 2 4

BT S APA'B.

(2) KB 2 TS s AABC B8 51 C £ 7 1) i 90°, 1 & e J5 M AA'B'C.




19. CARB8 43) W, S REE y=x"+bx+cFRSLH 4 (1, -2) F1 B (0, -5).
(1) RIZ IR 2 IE X B G 1) T AR
(2) B y<2 0, HERGFEEREESH x KIREEHE.

Y

o
A

B

(% 194H8)

20. (A 10 40D TG WAEABIMNIZ 250 80X, BURHEE & IvE 4 TAE. JERIT e T Wiskn
W EAELE G, AT IR IR, AR 1200 44 25 A2 BEN LM EGH 72 £ 54T 50
WK G 78 100 43, 4993 x B AT 60 FAEKD, IFK IR est 75 4 YA 4528 -
HA% (60=<x<70), —M (70=<x<<80), R4 (80=x<<90), 7% (90<x<<100), HlfF T
g B Gl E EoRSGHD.

BT B PR 2 A S0 TR IR R B S L 75 B B AR 22 A AR IR SR ) R TE G vt B

| P
701
60r
501
401
30r
201
101

0~V

70

40

30

60 70 80 90 100 k& (4%

(%20#8)
EH B A 45 H IR RV AB ST 1) i)
(1) KMz — M) N8, IR m Ty K.
(2) KEEgert B g “ RAF” Frxs NI ks T 15O A 1 22K
(3) XA ST A oS A T A 555 2
(4) WAk 2SR, SRS &5 5, AT s o R L s5
P2t 2/ N2



21.

22.

(A 10 43D FEERE SR TN T W5 H bR I A0 A R #, R FH = 485 R e 1

T =N Z WA E 1 TR,

(1) il 2, 46 P ST RS R s C MEMBEZIEL b 4, B W A¥IENL PC L
B, MR S R T I B N, AP, W HEH & oA Rs.

(2) Wil 3, AT LA Ek 4 B E R, /N AR 2 A AAE s B, C
S B ER A (A0 F £ ABD h 37°, LACD Jy 45°, i k& B, C, DAER—/KYV-H
2 b, BC=20m, KBk 4 B EE AD. (%5 sin37°20.60, cos37°~0.80,
tan37°=0.75)

!

3
iy, 8
4#:,54!,-],” i

7

1 2 Kl 3
(% 2148)

(A 10 73D HR 5N T R 2L (0 2 ikt 2 8, A7 7:00,  FRBAE e afe Al 22 42 5 Hb
R, TR I 2R AR 3R AR K B M2t R, AT B G 1) 2192 [ 2 L E St ATt 2. b
T 8:00, ZFEAEEE L 60km [ 1B oK EIFREIET T, FIIAGE)G, BN S A
WFEE, SR G Tl ZE et JEUTR BTAT,  Hoe o AT A [ sk BIaA e . 45 4 R0 K O 2 s 1 %
s (km) 5 BT B8] £ ()RS R WP 2 Fios.
(1) SRKEEE TSR s S PTHNTE] ¢ 19 pR 2R R A a HI1H.
(2) SRESONE FeAEG FESEU) 8 BT FH e ]

, | 5(km)
4 oA V P I
/J,f‘ “Qﬁ, LY !
N i ﬂn 8OF------------- :
S . . i
20 i i
0 1 a i(h)
! 4l 2

(% 224H)

Beram oy s (3t 6 7D



23.

24.

(AR 12 730 8 HMAMHEI A S A, I A PRSI S5 DY JE R R 4845 DY ik

TE, AHEEPRAR I ) I TR A ARG .

(D WE 1, VU ABCD W, AD//BC, £A=90°, X}fi%k BD “‘V-4y £ADC. KiF: DUl
J& ABCD AAR5FEIIATE .

(2) WK 2, 76 6x5 k&4l 4, B, C = ridfets i b, #FVULIE ABCD #4855 UL,
T ] H T RS A RS S D.

(3) WK 3, Wi ¥ ABCD 7484l JE, £ DAB=/ABC=90°, /BCD N4, #45 AC,
it BAYE BE// AC A8 DA WIEK 2T /5 E. %5 AC=8, DE=10, KVUiLJ¥ EBCD HfK.

r-TreTrTT T Tt TAT T E A D
4—0 ERVERRE
2 c U S O R B C
K1 Kl 2 K 3

(% 234H)

(AR 14 99> WK 1, BifAAABC WEET OO, D K BC I &, L AD IFEKAZ OO T4
E, %45 BE, CE, & CAE AC WL AE TR F, mi GA{EAD I, %45 BG, CG, #i BC
-4y ZEBG H./BCG =ZAFC.
(1) RZBGC HIE%.
(2) @ =kiF: 4F=BC.

@ # AG=DF, 3K tan/GBC IfJ{H.
(3) Kl 2, M5 0B BG FH 0G=1H, 3k AC K.

A A
0.
D
B C B D
F
F
E
K1 K 2

(% 24318)



	一、选择题（每小题4分，共40分．在每小题给出的四个选项中，只有一项符合题目要求）



